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In problems 1-3, solve each compound inequality. Graph the
solution set.
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B in her History class. Her current test scores are 74, 86, 77, and 89.
Her final exam is worth 2 test scores. In order to earn a B, Joanna’s
average must lie between 80 and 89, inclusive. What range of scores
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1.6 Absolute Value Equations and Inequalities
‘x‘ =7 Il\'—' 2
X=F  x=-7 |-2)-2

2x—1/+3=12
|2x-1| = 9

2x-1=9 2x-1z-9
‘Z|—1 X=8 X=-



1.6 Absolute Value.notebook September 05, 2017

You try
2x-3|=7
‘—x+5‘=—2

—5x+2|-2=5
|-5x +2| =2
“Sx4q9:-9  -Gxi2:=-7

X2l o -lo X= %or 1.8‘
You try what if you have abs on both sides of the equation?
-x+5+7=5 Ja] =]

X =¥ O-= -x
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You try

2x—3[=|x+2] —3=[2x+
23z el
v =& Ax-3=-x-2
3><:(
x=3l
J-3x+2|+4<14
2x+3<5
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‘Zx—S‘ >3 Try this
7x-3[<7
x+3]>4

\3x+ 4| >—4

l .
7 &
l)c+1 <—l
2 7
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